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Homework 10.3

Exercises: 30, }(;32 33 }‘1,38 40, 41, 42
Problems: 19, 23, 24, 25, 26, 28, 29, 30, 3%, 34

E.30 The electrons run from the power sources (battery) through the wire, through the animal, into the ground,
back to the battery (which has one end connected to the ground).
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@ E.38 The end through which the current enters has the higher voltage. This is because there is a voltage drop, as the

current runs through the strip.

from the charges is converted into heat and chemical energy (in your nerves and muscles).

@ E.40 The currents runs from one battery terminal through your tongue to the other terminal. Electrical energy
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not in the wire). The part of the circuit with the highest resistance has the highest power loss. You want this to happen

@ E.42 Most of the energy conversion (electrical energy to thermal energy and light) should happen in the filament (and

in the filament.
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